## 450. VARIATIONS AND GENERALIZATIONS OF AN INEQUALITY DUE TO BOHR*

Vlajko Lj. Kocić and Dragoslav M. Maksimović

The authors of this paper are undergraduate students at the Faculty of Electrical Engineering, University of Belgrade. This is their first contribution to Mathematics. They worked under guidance of Dr J. D. Kečkić and I. Lacković.

## Editorial Committee

P. M. Vasić and J. D. Kečkić [1] have generalized an inequality of Bohr (see, for example, [2] p. 61 or [3] p. 312)

$$
\left|z_{1}+z_{2}\right|^{2} \leqq(1+c)\left|z_{1}\right|^{2}+\left(1+\frac{1}{c}\right)\left|z_{2}\right|^{2}
$$

where $z_{1}$ and $z_{2}$ are complex numbers and $c>0$. Their statement reads:
Let $z_{1}, \ldots, z_{n}$ be complex numbers, and $p_{1}, \ldots, p_{n}$ positive numbers. Then, for $r>1$,

$$
\begin{equation*}
\left|\sum_{i=1}^{n} z_{i}\right|^{r} \leqq\left(\sum_{i=1}^{n} p_{i} \frac{1}{1-r}\right)^{r-1} \sum_{i=1}^{n} p_{i}\left|z_{i}\right|^{r} \tag{1}
\end{equation*}
$$

Since inequality (1) is bas 2 on the properties of the function $x \mapsto x^{r}(r>1)$, it is natural to investigate whether an analogous inequality is valid, if, instead of that function, a more general function $f$, which has some, but not all, properties of function $x \mapsto x^{r}$ is considered.

In the present paper we shall prove inequality (9) which generalizes (1). We shall also prove the inequality, complementary to (9).

In further text, $z=\left(z_{1}, \ldots, z_{n}\right)$ will denote a complex sequence, $p=\left(p_{1}, \ldots, p_{n}\right)$ a positive sequence, and $I$ the interval $[0,+\infty)$.

Theorem 1. Let $f$ be a strictly convex function on $I$ and let

$$
\begin{equation*}
f(u v) \leqq f(u) f(v) \quad(u, v \in I) ; \quad \lim _{t \rightarrow 0+} \frac{f(t)}{t}=0 ; \quad \lim _{t \rightarrow+\infty} \frac{f(t)}{t}=+\infty . \tag{2}
\end{equation*}
$$

Then

$$
\begin{equation*}
f\left(\sum_{i=1}^{n} x_{i}\right) \leqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(x_{i}\right), \tag{3}
\end{equation*}
$$

where $x_{i} \in I(i=1, \ldots, n)$ and $g(t)=\frac{f(t)}{t}$.

[^0]Proof. From the hypotheses of the theorem it follows directly that $f(0)=0$ and that function $g$, defined by $g(t)=\frac{f(t)}{t}$, is increasing for $t>0$. It means that there exists the function $g^{-1}$, inverse to $g$. Therefore, since $\lim _{t \rightarrow 0+} g(t)=0$ and $\lim _{t \rightarrow+\infty} g(t)=+\infty$, we conclude that equality $g(x)=y$ has a unique solution with respect to $x$ for every $y>0$.

For any convex function $f$, the inequality

$$
\begin{equation*}
f\left(\frac{\sum_{i=1}^{n} q_{i} y_{i}}{\sum_{i=1}^{n} q_{i}}\right) \leqq \frac{\sum_{i=1}^{n} q_{i} f\left(y_{i}\right)}{\sum_{i=1}^{n} q_{i}} \tag{4}
\end{equation*}
$$

is valid, for arbitrary numbers $q_{i}>0, y_{i} \geqq 0(i=1, \ldots, n)$. On the other hand, having in view the inequality in (2) we have

$$
\begin{equation*}
f\left(\sum_{i=1}^{n} q_{i} y_{i}\right)=f\left(\frac{\sum_{i=1}^{n} q_{i} y_{i}}{\sum_{i=1}^{n} q_{i}} \sum_{i=1}^{n} q_{i}\right) \leqq f\left(\frac{\sum_{i=1}^{n} q_{i} y_{i}}{\sum_{i=1}^{n} q_{i}}\right) f\left(\sum_{i=1}^{n} q_{i}\right) . \tag{5}
\end{equation*}
$$

From (4) and (5) it follows

$$
\begin{equation*}
f\left(\sum_{i=1}^{n} q_{i} y_{i}\right) \leqq g\left(\sum_{i=1}^{n} q_{i}\right) \sum_{i=1}^{n} q_{i} f\left(y_{i}\right) . \tag{6}
\end{equation*}
$$

If we introduce the substitution $q_{i} y_{i}=x_{i}(i=1, \ldots, n)$ and again apply the inequality in (2), we find

$$
\begin{equation*}
f\left(\sum_{i=1}^{n} x_{i}\right) \leqq g\left(\sum_{i=1}^{n} q_{i}\right) \sum_{i=1}^{n} q_{i} f\left(\frac{x_{i}}{q_{i}}\right) \leqq g\left(\sum_{i=1}^{n} q_{i}\right) \sum_{i=1}^{n} g\left(\frac{1}{q_{i}}\right) f\left(x_{i}\right) . \tag{7}
\end{equation*}
$$

Let $g\left(\frac{1}{q_{i}}\right)=p_{i} \quad(i=1, \ldots, n)$. Then $q_{i}=\frac{1}{g^{-1}\left(p_{i}\right)}(i=1, \ldots, n)$ and
becomes

$$
f\left(\sum_{i=1}^{n} x_{i}\right) \leqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(x_{i}\right),
$$

which is, in fact, inequality (3).
Remark 1. If conditions (2) are rep'aced by

$$
f(u v) \geqq f(u) f(v) \quad(u, v \in I) ; \lim _{t \rightarrow 0+} \frac{f(t)}{t}=+\infty ; \lim _{t \rightarrow+\infty} \frac{f(t)}{t}=0,
$$

inequality

$$
\begin{equation*}
f\left(\sum_{i=1}^{n} x_{i}\right) \geqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{t} f\left(x_{i}\right) \tag{8}
\end{equation*}
$$

holds for $f$ concave.

Theorem 2. Let function $f$ satisfy the conditions of theorem 1. Then, for the sequences $z$ and $p$ we have

$$
\begin{equation*}
f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right) \leqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right) . \tag{9}
\end{equation*}
$$

Proof. From the hypotheses of the theorem it follows directly that $f$ is an increasing function. Using the triangle inequality $\left|\sum_{i=1}^{n} z_{i}\right| \leqq \sum_{i=1}^{n}\left|z_{i}\right|$, from theorem 1 it follows

$$
f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right) \leqq f\left(\sum_{i=1}^{n}\left|z_{i}\right|\right) \leqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right),
$$

which is, in fact, inequali y (9).
Remark 2. From the proof of theorem 2 it is clear that inequality (9) holds for the e'ements of an arbitrary normed vector space. Namely, if $V$ is a normed vector space with the norm $\|\cdot\|$ and if function $f$ satisfies conditions of theorem 1 , then inequality

$$
f\left(\left\|\sum_{i=1}^{n} x_{i}\right\|\right) \leqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(\left\|x_{i}\right\|\right)
$$

is valid, where $x_{1}, \ldots, x_{n} \in V$.
Using the complementary triangle inequality, we may derive a theorem which corres onds to the result of remark 1 , in the same sen e in which theorem 2 corresponds to theorem 1. Namely, we have

Theorem 3. Let the function $f$ satisfy conditions of remark 1 and let $f$ be $a$ nondecreasing function. Then for the sequences $z$ and $p$, we have

$$
\begin{equation*}
f\left(C\left|\sum_{i=1}^{n} z_{i}\right|\right) \geqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right), \tag{10}
\end{equation*}
$$

where

$$
C=\left\{\begin{array}{l}
\frac{1}{\cos \theta} \quad\left(\alpha-\theta \leqq \arg z_{i} \leqq \alpha+\theta ; \quad 0<\theta<\frac{\pi}{2}\right),  \tag{11}\\
\frac{1}{\max \left(\frac{\sqrt{2}}{2}, \cos \theta\right)} \quad\left(\alpha \leqq \arg z_{i} \leqq \alpha+\theta ; \quad 0<\theta<\frac{\pi}{2}\right), \\
+\infty \quad \text { (in other cases) },
\end{array}\right.
$$

where, owing to the monotony of $f$, we agree to take $f(+\infty)=+\infty$.
Proof. If the substitution $x_{i}=\left|z_{i}\right|(i=1, \ldots, n)$ is in roduced ino (8), we get

$$
\begin{equation*}
f\left(\sum_{i=1}^{n}\left|z_{i}\right|\right) \geqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right) . \tag{12}
\end{equation*}
$$

Using the complementary triangle inequality, if $C$ is given by (11) (see [4], [5], [6]), we find

$$
C\left|\sum_{i=1}^{n} z_{i}\right| \geqq \sum_{i=1}^{n}\left|z_{i}\right|,
$$

wherefrom, since $f$ is a nondecreasing function, inequality (12) follows.
Remark 3. Inequalities similar to (10) may be obtained for the vectors in Hilbert's and Banach's space (see [7] and [5]).

In the case when $f(t)=t^{r}(r>1)$ inequality (9) is reduced to (1.1) from [1].
If $g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right)=1$ inequality (9) becomes

$$
f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right) \leqq \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right)
$$

which for $f(t)=t^{r}(r>1)$ yields inequality (1.7) from [1].
If substitution $p_{i}=g(n)(i=1, \ldots, n)$ is introduced into (9), we get

$$
f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right) \leqq f(1) \frac{f(n)}{n} \sum_{i=1}^{n} f\left(\left|z_{i}\right|\right)
$$

The above inequality holds for all functions $f$ saisfying conditions of theorem 1 , and reduces to (1.8) from [1], when $f(t)=t^{r}(r>1)$.

Remark 4. Similarly to the proof of theorem 1 , the inequality

$$
f\left(\int_{a}^{b} q(x) d x\right) \leqq g\left(\int_{a}^{b} \frac{1}{g^{-1}(p(x))} d x\right) \int_{a}^{b} p(x) f(q(x)) d x
$$

may be proved, where $p(x)>0, x \in[a, b]$, and where $f$ satisfies conditions of theorem 1 . (In this case $q$ is an arbitrary nonnegative function on $[a, b], a \geqq 0$ ).

We shall now prove some theorems regarding the lower bound of the expression $f\left(\sum_{i=1}^{n} x_{i}\right)$ in (3), i.e. the lower bound of $f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right)$ in (9). Thus, in the following theorem we give complementary inequalities for the above mentioned inequality.

Theorem 4. Let the function $f$ satisfy conditions of theorem 1. Then, for the real sequence $p$, for which $g^{-1}\left(\frac{1}{p_{i}}\right) \geqq 1$,

$$
\begin{equation*}
\sum_{i=1}^{n} p_{i} f\left(x_{i}\right) \leqq f\left(\sum_{i=1}^{n} x_{i}\right) \quad\left(x_{i} \in I(i=1, \ldots, n)\right) \tag{13}
\end{equation*}
$$

Proof. Since $f(0)=0$, in virtue of an inequality due to M. Petrović (see (2) in [8]), we have $\sum_{i=1}^{n} q_{i} f\left(y_{i}\right) \leqq f\left(\sum_{i=1}^{n} q_{i} y_{i}\right)$, where $q_{i} \geqq 1, y_{i} \geqq 0(i=1, \ldots, n)$.

Furthermore, after substitution $x_{i}=q_{i} y_{i}$ we get

$$
\begin{aligned}
f\left(\sum_{i=1}^{n} x_{i}\right) & \geqq \sum_{i=1}^{n} q_{i} f\left(\frac{x_{i}}{q_{i}}\right)=\sum_{i=1}^{n} q_{i} g\left(q_{i}\right) f\left(\frac{x_{i}}{q_{i}}\right) \frac{1}{g\left(q_{i}\right)} \\
& =\sum_{i=1}^{n} f\left(q_{i}\right) f\left(\frac{x_{i}}{q_{i}}\right) \frac{1}{g\left(q_{i}\right)} \geqq \sum_{i=1}^{n} f\left(x_{i}\right) \frac{1}{g\left(q_{i}\right)}
\end{aligned}
$$

If substitution $\frac{1}{g\left(q_{i}\right)}=p_{i}$ is introduced into preceding inequality, (13) is obtained, and thereby the theorem is proved.

A direct consequence of theorem 4 is
Theorem 5. Let the function $f$ satisfy conditions of theorem 1. Let $p$ be real sequence such that $g^{-1}\left(\frac{1}{p_{i}}\right) \geqq 1$. Then

$$
\begin{equation*}
\frac{1}{f(C)} \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right) \leqq f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right) \leqq g\left(\sum_{i=1}^{n} \frac{1}{g^{-1}\left(p_{i}\right)}\right) \sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right) \tag{14}
\end{equation*}
$$

where $C$ is defined by (11).
We shall prove only the left-hand side of (14).
If substitution $x_{i}=\left|z_{i}\right|(i=1, \ldots, n)$ is introduced into (13), we get

$$
\sum_{i=1}^{n} p_{i} f\left(\left|z_{i}\right|\right) \leqq f\left(\sum_{i=1}^{n}\left|z_{i}\right|\right) \leqq f\left(C\left|\sum_{i=1}^{n} z_{i}\right|\right) \leqq f(C) f\left(\left|\sum_{i=1}^{n} z_{i}\right|\right)
$$

wherefrom (14) follows.
Remark 5. Inequalities similar to (13) and (14) may be obtained for concave functions as well as for vectors of Hilbert's, or Banach's space.
Examples. Conditions of theorem 1 are fulfilled, for example, by the function $t \mapsto f(t)=$ $=t^{r} \exp \frac{t}{t+s}(r>1, s>0)$. In this case inequality (9) becomes

$$
\begin{equation*}
\left|\sum_{i=1}^{n} z_{i}\right|^{r} \exp \frac{\left|\sum_{i=1}^{n} z_{i}\right|}{s+\left|\sum_{i=1}^{n} z_{i}\right|} \leqq A \sum_{i=1}^{n} c_{i}^{1-r}\left|z_{i}\right|^{r} \exp \left(\frac{1}{s c_{i}+1}+\frac{\left|z_{i}\right|}{s+\left|z_{i}\right|}\right) \tag{15}
\end{equation*}
$$

where $A=\left(\sum_{i=1}^{n} c_{i}\right)^{r-1} \exp \frac{\sum_{i=1}^{n} c_{i}}{s+\sum_{i=1}^{n} c_{i}}$ and $c_{i}(i=1, \ldots, n)$ are positive numbers.
In the case when $s=1, c_{1}=\cdots=c_{n}=1$ inequality (15) becomes

$$
\left|\sum_{i=1}^{n} z_{i}\right|^{r} \exp \frac{\left|\sum_{i=1}^{n} z_{i}\right|}{1+\left|\sum_{i=1}^{n} z_{i}\right|} \leqq n^{r-1} \exp \left(\frac{n}{n+1}+\frac{1}{2}\right) \sum_{i=1}^{n}\left|z_{i}\right|^{r} \exp \frac{\left|z_{i}\right|}{1+\left|z_{i}\right|}
$$

Again, if we take $s=n, c_{1}=\cdots=c_{n}=1$ inequality (15) becomes

$$
\left|\sum_{i=1}^{n} z_{i}\right|^{r} \exp \frac{\left|\sum_{i=1}^{n} z_{i}\right|}{n+\left|\sum_{i=1}^{n} z_{i}\right|} \leqq n^{r-1} \exp \left(\frac{1}{n+1}+\frac{1}{2}\right) \sum_{i=1}^{n}\left|z_{i}\right|^{r} \exp \frac{\left|z_{i}\right|}{n+\left|z_{i}\right|}
$$

Setting $s=1, c_{1}=\cdots=c_{n}=\frac{1}{n}$ into (15), we get

$$
\left|\sum_{i=1}^{n} z_{i}\right|^{r} \exp \frac{\left|\sum_{i=1}^{n} z_{i}\right|}{1+\left|\sum_{i=1}^{n} z_{i}\right|} \leqq n^{r-1} \exp \left(\frac{n}{n+1}+\frac{1}{2}\right) \sum_{i=1}^{n}\left|z_{i}\right|^{r} \exp \frac{\left|z_{i}\right|}{1+\left|z_{i}\right|}
$$

## REFERENCES

1. P. M. Vasić and J. D. Kečkić: Some inequalities for complex numbers. Math. Balkanica 1 (1971), 282-286.
2. G. Hardy, J. E. Littlewood and G. Pólya: Inequalities. Cambridge 1952.
3. D. S. Mitrinović: Analytic Inequalities. Ber in-Heidelberg-New York 1970.
4. M. Petrovitch: Théorème sur les integrales curvilignes. Publ. Math. Univ. Belgrade 2 (1933), 45-59.
5. P. M. Vasić, R. R. Janić and J. D. Kečkić: a complementary triangle inequality. These Publications № 338-№ 352 (19/1), 77-81.
6. P. M. Vasić and J. D. Kečkić: A note on some integral inequalities. Math. Balkanica 2 (1972), 296-299.
7. J. B. Diaz and F. T. Metcalf: A complementary triangle inequality in Hilbert and Banach spaces. Proc. Amer. Math. Soc. 17 (1966), 88-97.
8. P. M. Vastć: Nejednakost Mihaila Petrovića za konveksne funkcije. Matematička biblioteka, sv. 38, Beograd 1968, pp. 101-104.

[^0]:    * Presented September 1, 1973 by J. D. KečKić.

